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LIS
Name: Class: o
4( Divide money amounts )7
Divide $ 500 by 25
Divide $85.20 by $0.5
Divide $ 54, 602 by $ 6.2. Write your answer to the nearest hundreth.

om




] Divide money amounts S

1. Divide $ 500 by 25

25/ $ 50

Therefore, $ 500 + 25 =$ 20

170.4
0.5x10) $ 85.20x10 = 5)$852.0 = | 5)$852.0
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S0,$ 8520 by |$ 0.5 F $170.4

3. Divide $54,602 by $ 6.2. Write your answer to the nearest hundreth.

8806.774

6.2) 54602 = 6.2x10)54602x10 = = 62) 546020.000
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8, 806. 774 to the nearest hundredth = 8, /806. 77

So| $ 54,1602 $ 08, 77 l
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